g£120 BEERLTI—AIA+YyH—(0-45-0-50) k& FEEMYRK

<0-45>
s | RS | Foomye7 | avs—tTr ||/ | x| 2 [
ATRvY 2 Gz il i R B Y e
TRARSUH 0-1 0-3
() 0C ., )2(0C _ )4jo|o 6|63
FCT7RAYTA 1-0 0-0
7(*$§J7|I) 2 ( 1-0 ) 0 0 ( 0-1 ) 1 3 2 1 1 2
A253—tTh 3-0 0-0
@z |4 1_0)—01( 1_0)0 6 5|05
<0-45>
BIOvy | om0 GRUSADERS |B—BLEDE4s| B | 18 | % i i
1) —++ o
FCoa—IL 0-0 1-0
(ILI3Y) 1C 00020 )16 3]t f2|
FOOT
0-0 0-0
CRUSADERS | 0 1 _
e C oy ) 1C )1 r]2f-1]s
H—5WLES5 0-1 0-0
<0-45>
S s | FCEBESN—|  EhBEs woLor | m e lx[F]
CIBY7 | ) (7K Go | &R | B2
FCHEME Sk 0-1 0-1
() 0C ., )2|0( Y1l o|o]|3]|-3]|3
0-0
ELEED 2-0 0-0
wr |20 ., )0 0( ., )0[a|2|ofz2]r
myLAIL 1-0 0-0
Gz |10 ,,)700C )0 411 o] 1]2
<0-50>
- | Fovs—zsP |AFFasi-—xr| PR AL [ lala [T
DIAYY | YLO50(1LiZY) ) o Wl | B B B 15
= =
1 1-0 0-0
YLO50 (LLZY) 1( 0_0)_0 0 ( oo )0 _ sl 1lol 12
FCYI—XSP 0-1 0-1
azimn |00, )1 — |oC )2fofo]a|34
NEFRTHZ 0-0 0-0
xr@s |00 )0 — 0(C ,)0[2f0ojojo]s
WABL—HIL 2-0 0-0
Ee o — 2( ,)0joC )0 3|2 ofz2]1
0-50 @B AR—HNLALT,—R  #EEBH:YLOS0  HEIL; \EIFATHF=Rb




$£12@ BEELTI—AIA+YyH—(0-45-0-50) K&

<TLh—FAVE>
FCoa—)L

ELEED

IR iz 7R & Bk

o=

% s A

<2fIb—FAE>
FCoOVTAT

H—BWEL5E45

BYyL 1

<BHLb—FAE>

FCHR#BEIN)—

TARZUY

OoON
o O
ol

162 A3 —tET+

24 FCzZO—JL

3L EBEEDH

4461 fAVLA2

56 $H—5dWLESHE45
641 FCZAVTAT

7L  FCEHEHBESR)—

8 FOOT CRSADERS
9fii IARSUY

OOT CRSADERES



